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Question 1

Question Type: MultipleChoice

The most appropriate benchmark for an organization to use to evaluate its supply chain management practices is a firm that:

Options:

A- has a global supply chain.
B- has a high level of product availability.
C- has driven down its cost, lead times, and late deliveries.

D- uses electronic data interchange (EDI) for supply chain information sharing.

Answer:

C

Question 2

Question Type: MultipleChoice




A methodology in which inventory is increasingly likely to be placed on consignment instead of being sold first to the retailer and then to
the end customer is known as:

Options:

A- Collaborative planning, forecasting, and replenishment (CPFR)
B- Vendor-managed inventory
C- A quick-response program (QRP)

D- A continuous replenishment system.

Answer:

B

Question 3

Question Type: MultipleChoice

Which of the following supply chain areas utilize order management cost metrics?



Options:

A- Distribution
B- Inspection
C- inbound freight

D- Commodity management

Answer:

C

Question 4

Question Type: MultipleChoice

What is the inventory turnover for a company with the following financial data?

Total revenue $£34 452 DOO
Cost of goods sold $14 181,000
Net recervable $1,767 000

Inveniory $7 411 000



Options:

A-191
B-4.64
C-8.03
D-19.50

Answer:

C

Question 5

Question Type: MultipleChoice

Which of the following processes enables joint planning of key supply chain activities?

Options:

A- Vendor-managed inventory (VMI)



B- Supply chain event management (SCEM)
C- Distribution requirements planning (DRP)

D- Collaborative planning forecasting, and replenishment (CPFR)

Answer:

D

Question 6

Question Type: MultipleChoice

A distribution requirements planning (DRP) system it implemented to primary to monitor or manage:

Options:

A- supplier capacity
B- customer demand
C- inventory replenishment

D- demand variation



Answer:

Question 7

Question Type: MultipleChoice

The diagram below shows the process of manufacturing of item D and the capacity of each operation. Each operation requires one unit
from the previous step.
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Which of the following is the total production throughput?

Options:

A- 25 units/hr.
B- 27 units/hr.



C- 65 units/hr.
D- 84 units/hr.

Answer:

A

Question 8

Question Type: MultipleChoice

Which of the following tools a appropriate to overall organizational performance?

Options:

A- Supplier scorecard
B- Benchmarking
C- Balanced scorecard

D- Quoted-benefit analysis



Answer:

Question 9

Question Type: MultipleChoice

Which of the following outcomes is most likely a result of allocating excess capacity to a chain facility?

Options:

A- Lower utilization which leads to higher cost
B- Higher utilization which leads to higher cost
C- High utilization which leads to lower cost

D- Lower utilization which leads to lower cost

Answer:

A



Question 10

Question Type: MultipleChoice

Which of the following activities is included in the source process of the Supply Chain Operations Reference (SCOR) model?

Options:

A- Managing warehouses
B- Managing inventory
C- Scheduling production

D- Aligning functional plans

Answer:

D
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